THRTHESF HF— 13

EXE S 1/11



I fx) = "t FhE, P a A FH O TE, A x 09 TIHA
1357 FESLA I G F BT R A

T hu 2/11



22 F &%

Z 3
I A)=x " FEhH, B a A ¥ Hx AT F, A x W EABAG
15 X7 F BTG F TR & A

FdH 2/11



UEES LS
Z 3L
G ) =x 4 FdE, L a A ¥R x L0 EF, A x 92 LH AR
S SEN IS S R
]

o fix)=x=x!

o flx) =1=x"1x#0.

o flx) = x2

o flx) =3

e flx) =yx=x2,x>0

° f(X):X%.

° f(X):X%,XZO

FdH 2/11



|
FHHA (0, +00) L o9 %E A4

Z 32
% aAEFHEH, B fix)=x" & [0,+c0) £ F AL

FdH 3/11



|
FdF A (0,4+00) k#h A

Z 32
% aAEFHEH, A fix)=x" Ak [0,+00) L FFE .

S 6
wF aAEdEH, AH a="5 K+ p,q 4B E ¥ H. TR

0< x4 < xo,
f(Xl

(x2

~—

X1 X1,k
:(—a: —)q’

X2 X9

2528

~—

1 L
T O<T <L BAROS ()<, FAROS(GL))P <1 B

0< B 1 W fxg) =x§ >0, BRAFABLRA £ fxg), 3

FSA%EF @, TH0<fx) < fx) B fx) £ [0,+00) LEAL
#. m

v

FdH 3/11




-
Fd#A (0,+o0) ko9& Fk

#) AL

Arathitfl 53R, AMNLTALERAT Tatyd P i e

50<r<lqg#t %Mcaﬁ,ogré < 1.

F0<r<lpdEHEHeF 0P <.

FdH 4/11



|
Fd#t (0,+o0) Lo ¥ At

it
% a kA48, R fx) = & (0, +o0) + ¥ Mk,

g,
X):Xa: ! ﬁ%%’ﬁiﬁl}?,xﬁ” Fﬁ% ,'i)‘Lj;‘»XCF Xﬁﬁﬂf’ﬁﬂbﬂ*gﬁ, @)l?t

x—a°

% £ X x93 KABl. Bt fx) p:3 (0, 00) L EAEA. O

A

F I 511




-
FFFEHHA (0,+00) £ K

¥ AL
igx a,biﬁ%ﬁﬁi&, A a> b. rtﬁi f(X):Xa %\7 g(X): b f)@j-\d\, ,}’d‘_‘?
x> 0.

EXE S 6 /11



FFFEHHA (0,+00) £ K

¥ AL
ig\ a,b%F%ﬁ%‘?%t, A a> b. rtﬁi f(X) = x? %\7 g(X) — b f)@j-\d\, ,}’d‘_‘?

x> 0.

° %0<x<1aﬁ,0<%:§:x3*b<1, B 0 < flx) < g(x).

F I

6/ 11



FFFEHHA (0,+00) £ K

¥ AL
ig\ a,b%F%ﬁ%‘?%t, A a> b. rtﬁi f(X) = x? %\7 g(X) — b f)@j-\d\, ,}’d‘_‘?

x> 0.

o$0<x<1an0<g(X))—Xb—Xab<1 B 0 < flx) < g(x).

o ¥ x=1¢8ff(x)=gx)=1.

FdH 6/ 11




FFFEHHA (0,+00) £ K

¥ AL
ig\ a,b%F%ﬁ%‘?%t, A a> b. rtﬁi f(X) = x? %\7 g(X) — b f)@j-\d\, ,}’d‘_‘?

x> 0.

° $0<x<1a¢0<§(xx))—§:xa*b<1, B 0 < fix) < g(x).

o ¥ x=1¢8ff(x)=gx)=1.

o % x>1 8, gfg =xb > 1, B fx) > g(x).

O

FdH 6/ 11




-
TBF&#A (0,+00) ka3 ik K

) AL
R abAMbFHREK, B a>b>0 % xBTELT KR, itk ix) =x°
Fo g(x) = x> 09 K K.

fix) — g(x) = x* —xb =xP(x@b — 1),

ExHBFIAETHE XL HBFEILY, A PP 1 BB FIHYFTABL
FEAET, TL, A x 499K Ax) At g(x) &k K. O

v

FdH 7/11



|
BRI Ax) =5 F g(x) =x: £ (0,400) LtH BT ¥ 4

#) A

BHHAx) =xg(x) =xs, B4 a£0. WERNETE fx) P g(x) A
(0,+00) LB TRt 2 £ %K.

4k
o .

y=> BlhretrE—% (x0.¢) B 2% y=x: BRE®E ().
W (x0,0F) PE G x0) AETER y=xfostire. BHt y=x 44
thioy=x3 WEHBET LB y=x ik 0

v

FdH 8 /11



EXE S 9/11



|
s

A

B fx) =, xER Fd ¥ g(x) = x3,x€ R ML F d%.

M8
O E 2L AE R LA x) L5 &K, A f(x) £ (0,+00) L& %A
@B, B Ax) A (—00,0) Lt ¥ 8% LK.

y

8
AEH: % fix) P g(x) A XXM LG T R, A5 x>0 8f,Ax) > g(x),
R f—x0) < g(—x0).

v

FdH 10 /11



toLEs

A8

O A fx) = x L F Ax) = x5 b ESKEEBEE AN = x2 FEX
R Y ST

A8

AER % w3 e BB Ax) A, A f(x) & (0,+00) L ¥AE
g, B f(x) A (—o0,0) kA& #EEH LK. )
A8

L8] % flx) Fo g(x) A XX LB IE, A5 x>0 of,A(x) > glxo),
R f—x0) > g(—x0). )

FdH 11 /11




